Pre-Calculus/Trig3




Name 







Mixed Triangle Practice



Block 


Date 




Solve for the missing sides and angles of the triangles.

1.
a = 
10
 A = 
52O
 


b = 

 B = 




c = 
12.4
 C = 


2.
a = 
15
 A = 

 


b = 
20
 B = 




c = 

 C = 
90O

3. 
a = 
20
 A = 

 


b = 
40
 B = 
23O



c = 

 C = 


4.
a = 
8.2
 A = 

 


b = 

 B = 
41O



c = 

 C = 
90O

5. 
a = 
12.3
 A = 

 


b = 

 B = 
64.2O



c = 

 C = 
38.5O


6. 
a = 

 A = 
43.7O 
 


b = 
5.6
 B = 




c = 
12.7
 C = 



7.
a = 
5.6
 A = 




b = 
4.9
 B = 




c = 
9.3
 C= 



Given the following information, solve the right triangle.

8.) A = 55° b= 6



9.) a = 7, b = 12

10.) B = 13° , c= 20



11.) c = 10, b = 4 

12.) The height of a radio transmission tower is 70 meters., and is casts a shadow of length 30 meters.  Find the angle of elevation to the sun.

13.) Your football has landed on the edge of the roof of your school building.  When you are 25 feet from the base of the building, the angle of elevation of your football is 21(.  How high off the ground is your football?

